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[ Qrés wHiuGuarser : 100

sre 2i6mey : 3.00 wenfll Cryw | 55
[Maximum Marks : 1

Time Allowed : 3.00 Hours ]

SMlejenrseT : (1) maisg edemmsas@hh sllurs oFal USeurdl o erersm Gra'urug,sm@
sHluTTggs Camereread. ENY ZARTRY. ko5 o @Gmmuﬁl@u&@ SIHDS
sarsrailiLrerfLib o Langwrs Agflalidse.

2 B ooy s®UY @wulmern -goL@(Sm T(RSHIUBDH G LD
=1g5CangPeasH@Eh Lwau@ss CauamBb. ULBSE gD
Quenéled LwSTLHSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately. -

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : Qeclamsser HrerS uGHamer Qe g,

Note : This question paper contains four parts.

L@&S - I /PART -1
R0y : () Simensg odamssErsEL oo wafssab. 14x1=14
(i) Qar@asuuc @arer TP el sald Waayb gpymLL el ulmas
Coip0sBsgs GIUILBLET el Gemanu b Caiégl eT(psabd.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answe?- from the given four alternatives and write
the option code and the corresponding answer,

[ #®LUys / Tum over
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1. n(AXB)=6 LB A={1, 3} erefic n(B) <pag) :
(<=4) 1 (<) 2 (&) 3 () 6
If n(AXB)=6 and A={1, 3}, then n(B) is :
@ 1 (b) 2 (© 3 (d) 6
2. [:A-B ey Qmups smiy OMID n(B) =7 erafley, n(A) g :
(1) 7 (<) 49 (@) 1 () 14
If f:A—B is a bijective function and if n(B) =7, then n(A) is equal to :
@ 7 (b) 49 © 1 (@ 14
3 11pse 10 cuenpuyenar (Qre® eraimsieanid 2 1 L) Siaaiss) eramEaTTaID AL
OEFA D erev
“t31) 2025 (<=4) 5220 . (@) 5025 (FF) 2520
The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :
() 2025 ) 5220 (€) 5025 d) 2520
4,

@ &L Csrii aflesled 31 o pliysdr o drarar. <iger 16 -aug) o miiy
m erailed, Sibss sl B Asrit euflersuficd o arer erévem o miriyseafier Sa(HBe :

™ (@) 160 () 62m @ %m (M 3 m

An A.P. consists of 31 terms. If its 16" term is m, then the sum of all the terms of this AP, is .

(a) 16 m ~(b) 62m () 31m (d) 3—,3*.111
5. xA464 -@ P TSNS WLIHD NeTaumeuaTeuDmieT ress Fnl L (Bmeﬁn'r@u.b ?

(1) 452 () 1622 (@) 82 (/) —8x2
Which of the following should be added to make x%+64 a perfect square ?

(@) 4x? (b) 16x? () 8x2 d) —8x2

kindly send me your key Answers to our email id - padasalai.net@gmail.com
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<D,(&LD.

(@) Ureuemeruiim (") Sifluraueerwid

N Gpflw FWETUTL Q6T GUETLILLD ¢
(1) (,?pr'ré%@.ﬂ;rr@ (=) ul b

Graph of a linear equation is a

(a) straightline  (b) circle (c) parabola (d) hyperbola

AABC -uféd DE||BC, AB=3.6 Q&.1§, AC=2.4 Q&.18 wpmb AD=2.1 Q&8 erafle,
AE -uQen Bamb :

(<=1) 14 Qg5 (<=4) 1.8 Qz.18 (@) 12 Q.8 (/F) 1.05 Q&8

If in AABC, DE||BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then the length of AE is :

(@) 14 cm (b) 1.8 cm () 12cm (d 1.05cm

el L gdlam Geuafliiymiy umaﬁuﬁ?aﬂ@w w'—l-s.sélm@ rsean AgrHCsTH s
euenriLeTDd ?

(=) porm (=) @ran®

(8) pyaupp crarefisms (7) wiewb

How many tangents can be drawn to the circle from an exterior point ?
- (@ One (b)) Two '

(c) Infinite ' (d) Zero

(=5,0), (0, —5) wHMd (5, 0) pHws L : LI ”r
Lt 0 =5 wpgid 6, 0) YA Lerefserre DA@WESIUED (psCaTansdler

(1) 0 a. DIVGEHET (2) 25 & S|V GGer

(&) 5 5. Ggsdr () 10 8. Sagsar

The area of triangle formed by the points (-5, 0), (0, - 5) and (5, 0) is :
(@  0sq. units (b) 25 sq. units

(©)  5sq. units (d) 10 $q. Units
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https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

AN
A e

10.

11

12,

13,

www.Padasalai.Net

www.Trb Tnpsc.com

=

4
Ve tand opoiD y=b secd eTafld,
; . 2 2
(AR % “ ] 3 :
r._-u\};_—f"———-::. }____;lf__.z o ™ L—y -
R TETE st &) Zhy il e
If v=a tan® and y=Db sech, then :
5 5 2 2 2
Y X x* ‘ gt x
g Losf oy ES =l 5170
@) Tz L € T 9 27w

4 Qs.18 2 WFApLb, 10 Q8.8 @igliym e Lapld GameRTL g Crireul_ L 2 (paneruiles
QUEDGTLITLIL -

(c"»‘l) 40 EHIT V(G SHeT (%) 20 ™ &G <D GHEBET

(8) 14 7 smr S@@EsT (/) 80 T EHT SGGET
The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 cm is :

() (b)
(c) (d) 80 sq. units

40  sq. units 20 7 sq. units

14 7 sq. units

gwrer 64 Libd Log')gzlLb 2 WD 2aLW @Ff 2 (hener, @@ L WLHHID @
Carengdlen sar jere|sefer Qs :

(@R:T:3 (@) 1:3:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

(a)

(24)1:2:3 (F) 3:1:2

11248 by 2:1:8 € 1:3:2 (dy 3:1:2

GeTHésuuTL wHuLseid ame g Blapssllen Rapssers Qmés wpigLirg ?

(=) 0 (<) 0.5 (@) 1.05 (/) 1
Which of the following values cannot be a probability of an event ?
(@ 0 (b) 05 (©) 1.05 d 1
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x
14, @0 pUBSESG Caume Heolliughesrar Hepssd T 7 Cauma fenssmo6

GBIy :

Note :

17.

18.

- . 2 s ,
Quusnarer Hlapssey . erafled, x -@en Lo ILTETS)

(1) 2 (=) 1 (@) 3

(fF) 1.5

- ; , 2
The probability of getting a job for a person is —;— . If the probability of not getting the job is 3

then the value of x is :

@ 2 © 3

(b) 1
L@S - 11 /PART - 11

sL_Lmuwns allenweflésayb.

If AxB={(3, 2), (3 4), (5, 2), (5 4)} then find A and B.

d) 1.5

siepeuBuenid 10 elanmsasenie oo wellssab. eierr eram 28 -&@

10x2=20

Answer any 10 questions. Question No. 28 is compulsory.

15. AxB={G 2), G, 4), 5,2, 6, 4)) crafléd, A wpmid B -85 ST,

16. f(x)=3x—2, g(x)=2x+k pmid fog=gof ereled, k -@en wlliemus SranTs.

If f(x)=3x—2, g(x)=2x+k and fog=gof, then find the value of k.

ab xb?=800 eremmeuny e G Bles WP(p&seT ‘2’ HmID b -gé TS,

‘a’ and ‘b’ are two positive integers such that aP xb2=800. Find ‘a’ and ‘b'.

FHEGS - 4x.2y % 6x2°

C 222 20yt

S— 4x2y 6xz°
Simplify : X

272 20y*

[ gf,ll@thqas / Turn over
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19. LS}@'IQJ\_H)LO Qougs FOGUITL g 61 p@msale aB5D whmib AUEBSSDHUVE Hrds,
4 8r S 65=0

Find the sum ang product of the roots for following quadratic equation.

.T: -~ 8_‘{" — 65 — 0

20 2® wealgear 18 .8 H&Cs Qeary Wenant 24 8 au&Cs Qeadlprer. CaTLés
ﬂ@muﬁ]aﬂ(@‘ﬁ,@ SAeuit @mEEh Qareawmeld Srars.

A man 8oes 18 m due East and then 24 m due North. Find the distance of his current
Position from the starting point.

/
21. A(‘—'B_: 9). B(a, b) wpmib C(4, -5) erénuiar g CHTL®LBS LetaflaeT wHmD a+b=1
eTailed, a HMID b -ufler W ienLd STeans. ;

If the points A(-3, 9), B(a, b) and C(4, —5) are collinear and if a+b=1, then find a and b.

(-1,' 2) erenip Lemafl aufl QFceugbd, sriiey 7 2oLwgorer Gpﬁé@&nﬁqsﬁr

22.
FLOGTLIML_OL-& STeHTs.
. . \ .. B
Find the equation of a straight line which has slope e and passing through the point
{—1; 2): )
1 + cosb .
. ————— = cosech + cotd ererTLIEH ; :
23 e & Bleml9&sayL.
Prove that l__-f_gs_ﬁ = cosecl + cot@,
1 — cos@
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HDUUTUENUS STewTs.

If the base area of a hemispherical solid is 1386 sq. Metres, then find its total surface area.

2 Wb 2 U5 HmIb <eiq UigiLy 250 &.8 QaramL. @ 2(HeeTlan sam DieTanas Smas.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. m.

Qar@é&sUulL sreyls Ldrala@nése eldar wHDILD 65565081y Y HweIDnDS &TaTs.
25, 67, 48, 53, 18, 39, 44

Find the range and coefficient of range of the following data :

25, 67, 48, 53, 18, 39, 44

e QpLLTewrqed (leap year) 53 safi&Slpenioger fev Liughaner Flspsse| ereer ?
What is the probability that a leap year selected at random will confain 53 Saturdays ?

23 wpmid 12 @ weupiler B.CLr.al. Srems.

Find the HCF of 23 and 12.

u@$ - I [ PART - III

aL_Lmuwong eSlen_weflEsa|Ld. 10x5=50

Answer any 10 questions. Question No. 42 is compulsory.

A={xeN|l<x<4), B={xeW|0=<x<2} LoD M LD C = {xe N | x<3} crafle,
A X (BUC) =(A X B)U(A xC) eraLieng sMUTTESELD.

Let A={xeN|[1<x<4}), B={xe W|0=<x<2} and C={xeN|x<3}. Then verify that
A X (BUC) = (A xB)u(A X C).

[ Siliys / Turn over
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T GT6l . A— B Grayd ML
i SaRTRIEET Grand. f

A={0.1,2,3) wpgd B={1,3,5,7, %) 6""’“”%@$&m% Qareir®
fR) =2 +1 erans QsTRSSUILL(HETETE! o)

(if)

(iv) @jGﬂDlTUl_.Lb

: o ; 9| LG 6 6T
(1) SLYUSEM UL

(i)  euflengsd Gemgsafien enrid

S dweiperns @Heseyd .
pe two sets. Let f . A —B be a function given by

Let A={0, 1, 2, 3} and B={1, 3,5, 7, 9}
f(x)=2x+1. Represent this function

() by arrow diagram () ina table form

(iii) as a set of ordered pairs (iv) ina graphical form

S (DB sres @ B +103+........ 213

Find the sum of 93+103+.......... 213

642 — 1633 + 1702 — 22 +1 GTEMLISEN QUTESAPEOLD HTEHTS.

Find the square root of 64x*—16x>+17x%—2x+1.

A= [ 31 ﬂ erafiléd, AZ—5A+71,=0 erem ﬁgma;.

If A= [ 31 ;] show that A2—5A+71,=0.

Caaev GCappseds arpd Hlepidsayn.

State and prove Thales Theorem.
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(=9 =2, (-8 -4, (2 2 LD,I'DQ_}ILB (1, —3) c%aﬁhu q@ﬁ@ﬂéﬁeﬁ)m (P HSETTHE (ol marorL_
rrnsreHan Lrlienud srens.

Find the area of quadrilateral whose vertices are at ( -9, =2), (-8, —4), (2, 2) and (1, -3).

A(—4, 2) wHmb B(6, ~4) erern Leraflsaman GenaméGio DLWE GSH6CET g6
FIDGETUTL L& &TeTs.

Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and
B(6, —4).

Qm sLuOET soiisomy Neasssdar @@ UssEsQD Sl LD
Qewflarpear. @@ suudsadBHg somsmy darsssdar o fflar ghns
Caramiser wenGu 30° wHmb 45° G Eh. sunser elassssda o wrb 200 8
erafled, @@ BLILOEEFES Qe G o drer Ggreamemeud srams. (/3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the

top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse
is 200 m high, find the distance between the two ships. (/3 =1.732)

45 Q.18 ewgupater gif @oLssaT sder @@ Ln < rase weopGu 28 U8
D 7 088 erailed, L SEMILGE T ST DTS HTERTS.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum.

6 Qz.18 <yrid wHmd 15 Q&8 2 wrb Aerar. @m G QL 2 HeaT aulgauLl
U"gé]m—b (P(PUGILDTES LJGUﬂ:EiSB'nIEQ (Ice-cream) Q__GTTGIT@ él!ﬁg'-:j LIGEﬂt‘;.E»B%LIC.QI'I'GDTQ_I, FalDL
HmId BeFsCamend @eameahs cugeusde Hriuiu@ipg. sabider 2wy 9 Q&b
wHmb prh 3 0.8 erafle), ursSrsHd edrar uafldsaamy Hrlu agsmans
Falbysem Ggeneu ?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of

ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having
a hemispherical cap. Find the number of cones needed to empty the container.

[ Sipiiys / Turn over
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40. 24, 26, 33, 37, 29 31 < AweupBlen oryuT_Hé Q&(eneus Srems.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

41. Qre® usenL s R panm &@LLuu(ﬁaﬂG’mmeﬂ WED usmLUID PS gl

Grie i uen ere by s LIHLLSHTET MmBsd 8 -ss HoLLugdeTer
Bswssamous &rars.

Two dice are rolled once. Find the probability of getting an even number on the first die or
the total of face sum 8.

42. 74774777 4 o eramm Qgrii euflensullean n o mliyseflen sBse srams.

Find the sum to n terms of the series 7+ 77+ 777 + eoveovvoon.on.

U@&S! - IV [ PART - IV
GOy : enenss alamssEriEn e walssab. 2x8=16
Note : Answer all the questions.

43. (1) PQ=4.5 @&.15, |R =35° wHHL 2 &8 R -uSeSl(mHE uenTwIiL L BHECHT g b
femb RG=6 Q.18 eran Sepwwyomm APQR cuanys.
SI6Ve0G)

(=) 6 Q&85 L qperer aulLid QUG eul L &&le @LWSHNmHE 8 Q.8
Qereneeiler P eramn Letaflenwis @léseyib. Auyereflelmbg PA OHMILD
PB erenm @ QarBCar@ser auehg Sieudlen Sertisamer leref s,

(@) Construct a APQR which the base PQ=45 cm, [R =35°

and the median RG from R to
PQ is 6 cm.

OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. away ¢ _
Draw the two tangents PA and PB to the circle and measure their leﬁggl);l_l its centre.
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44. () y=22-3x-5 -uléhr euanyLILLD quenFHS, osoman LweruBsl 2x°—4x—6=0
TGN FLOGUTL L& SidsayLb.
iV gl
(<) xy=24, x, y > 0 eramm UDTUL Seng eUeTs. u@TULSmSL LweaiuBhss,
(@) x=3ealle y -2& srams.
(i) y=6crafled x -& FrawTs.
(a) Draw the graph of y=2x2—3x—5 and hence solve 2x2—4x~6=0.
OR
(b) Draw the graph of xy=24, x, y > 0. Using the graph find,
(i) vy when x=3 and
(i) x when y=6.

-00o0-
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